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QUESTION 1

When troubleshooting a performance related issue, an administrator sees the following warning message on an ESXi
Console:

Significant imbalance between NUMA nodes detected. Performance may be impacted.

Which action should the administrator take to correct this problem?

A. Ensure that the RAM modules are evenly balanced between processor sockets in the physical server.
B. Ensure that all memory banks associated with CPU Socket 0 in the physical server are completely filled.
C. Ensure that the physical server has the maximum amount of RAM modules that it can support.

D. Ensure that all RAM modules in the host are Error-correcting code (ECC) modules.

Correct Answer: A

Reference:

http://kb.vmware.com/selfservice/microsites/search.do?language=en_USandcmd=displayKC andexternalld=1018754

QUESTION 2
An administrator would like to use a passphrase for their ESXi 6.x hosts which has these characteristics:

Minimum of 21 characters Minimum of 2 words Which advanced options must be set to allow this passphrase
configuration to be used?

A. retry=3 min=disabled, disabled, 7, 21, 7 passphrase=2

B. retry=3 min=disabled, disabled, 21, 7, 7 passphrase=2

C. retry=3 min=disabled, disabled, 2, 21, 7

D. retry=3 min=disabled, disabled, 21, 21, 2

Correct Answer: B

To force a specific password complexity and disable all others, replace the number with the word with disabled. For
example, to force passwords containing characters from all four- character classes: password requisite

lNlib/security/$ISA/pam_passwdqc.so retry=3 min= disabled,disabled,disabled,disabled,7

Reference: http://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKC
andexternalld=1012033

QUESTION 3

An administrator is building a large virtual machine that will require as many vCPUs as the host can support. An ESXi
6.x host has these specifications:
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Four 24-core Intel Xeon Processors

256 GB of Memory

512 GB Local disk space using VMFS5

What is the maximum number of virtual CPUs that the virtual machine can be allocated?
A. 64

B. 96

C.128

D. 192

Correct Answer: B

QUESTION 4

An administrator is creating a new Platform Service Controller Password Policy with the following requirements:
Minimum length: Minimum of 8 characters.

Restrict use: 6

Character requirements: At least one upper-case letter, one number, and one special character.

Identical adjacent characters: 0

When trying to assign the password "P@$$wOrd", the administrator receives an error that the password does not meet
the Password Policy requirements.

Which part of the Password Policy does this password violate?
A. Minimum length

B. Restrict use

C. Character requirements

D. Identical adjacent characters

Correct Answer: D

QUESTION 5

An object has inherited permissions from two parent objects. What is true about the permissions on the object?
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A. The common permissions between the two are applied and the rest are discarded.

B. The permissions are combined from both parent objects.

C. No permissions are applied from the parent objects.

D. The permission is randomly selected from either of the two parent objects.

Correct Answer: B

Most inventory objects inherit permissions from a single parent object in the hierarchy. For example, a datastore inherits
permissions from either its parent datastore folder or parent datacenter. Virtual machines inherit permissions from both
the parent virtual machine folder and the parent host, cluster, or resource pool simultaneously. To restrict a user\\'s
privileges on a virtual machine, you must set permissions on both the parent folder and the parent host, cluster, or
resource pool for that virtual machine.

Reference: http://pubs.vmware.com/vsphere-4-esx-vcenter/index.jsp?topic=/

com.vmware.vsphere.dcadmin.doc_41/vsp_dc_admin_guide/man
aging_users_groups_roles_and_permissions/c_hierarchical_inheritance_of permissions.ht mi
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